

Government of Bihar Rural Works Department, Works Division, Saharsa

Head: MUKHYAMANTRI GRAM SAMPARK YOJNA (2019-20)

Revised A. A. Amount:

Rs. 225.550 lac vide letter no 1093 Dated: 24.11.21

Name of Work

: Construction of Road from Road No. 17

to Baghwa Punarwas (SC)

Under Mahishi Block

Name of Agency

: Md. Athar Ali, Bhelahi Kalan Khurd

Mahishi, Saharsa

Agreement No.

: Supply Agreement of Agreement No.

52 SBD/ MMGSY/20-21

Agreement Value

: Rs. 48.80462.00 (Const.)

Rs. 0.00 (Maint.)

Total

: Rs. 48.80462.00

Agreement Rate

: 3.51 % Below on BOQ rates with all taxes

Date of Commencement:

Time for Completion

Allo Malle Mall

Executive Engineer

R.W.D.Works Division

SAHARSA



Rural Works Department (Govt.of Bihar) Works Division Saharsa (hereinafter called "the Employer") of the one part, and Md. Athar Ali, Bhelahi Kalan Khurd, Mahishi Saharsa (hereinafter called "the contractor" of the other part) Whereas the employer is desirous that the Contractor execute the construction and maintenance of road from Road No. 17 to Baghwa Saharsa District Mahishi Block Punarwas. Sampark yojna (SC) Mukhyamantri Gram (hereinafter called "the Works") and the employer has accepted the Bid by the Contractor for the execution and completion of such Works and the Routine maintenance of the work for 5 years of the contract price and remedying of any defects therein at a cost or Rupees (3.51% below) (Construction Cost: 48,80,462.00 + Maintenance Cost: 0.00) = 48,80,462.00 (Forty Eight Lacs Eighty Thousand Four Hundred Sixty Two) Only.

29/2/24

Executive Engineer
R.W.D.Works Division

मार्ट भाग प्रतान वर्ष

Revised Bill of Quantity for the work of Road No. 17 to Baghwa Punarwas Approved by S.E. RWD Saharsa vide letter no. 636 enc Dated 02.07.22 and Revised Technically approved by CE-2 Patna vide letter no.III-160@/20-21 Dated 03.01.22

Estimated Cost

ltem	Original Cost (in Lac)	Excess Revised Cost (in Lac)	Total Cost (in Lac) 211.50412
Const.	160.92414	50.57998	
Maint.	15.37887	0.00	15.37887
Total	176.30301	50.57998	226.88299

Agreement Amount

_			Total Cost	
Item	Original Cost (in	Excess Revised Cost		
Ttom	Lac)	(in Lac)	(in Lac)	
Const.	155.27570	48.80462	204.08032	
Const.		2.00	14.83906	
Maint.	14.83906	0.00	14.03900	
m . 1	170.11476	48.80462	218.91938	
Total	1/0.114/6	40.00102		

Rs. 97700.00 Required Performance Security @ 2%

FD No. 3133401000872/2

Dated 26.04.22 Rs. 106000.00

Total: Rs. 106000.00 Submitted

Rest Performance Security @ 8% to be deducted from contractors bill Additional Performance Guarantee: Rs. 50600.00 Required Dated 28.02.24 Rs. 43000.00 FD No. 140134564658/1

Total: Rs. 43000.00 Submitted

In witness whereof the parties thereto have caused this agreement to be executed the day and year first before written.

The Common Seal of ... Firm Name .. was hereunto affixed in the presence of : Signed, Sealed and Delivered by the said in presence of .

Binding Signature of Employer Executive Engineer, R.W.D Works Division, Saharsa

Binding Signature of Contractor

Allo MECC MUIL

अधीक्षण अभियंता का कार्यालय, ग्रामीण कार्य विभान, कार्य अंचल, सहरसा। पत्रांक 636 /3/70

प्रेषक.

ई0 संजय कुमार सिन्हा, अधीक्षण अभियंता.

सेवा में.

कार्यपालक अभियंता, ग्रामीण कार्य विभाग, कार्य प्रमंडल, सहरसा।

सहरसा, दिनांक 02'07-2022_/

विषय:

शीर्ष मुख्यमंत्री ग्राम सम्पर्क योजना (MMGSY-SC) अन्तर्गत स्वीकृत कुल-01 (एक) अदद पथ के पुनरीक्षित प्राक्कलन पर पुनरीक्षित तकनीकी स्वीकृति के

उपरान्त पुनरीक्षित परिमाण विपत्र अनुमोदन करने के संबंध में।

प्रसंग :

आपका पत्रांक 937 अनु0, दिनांक 01.06.2022 एवं विशेष सचिव, ग्रामीण कार्य विभाग, बिहार, पटना का पत्रांक-BRRDA(HQ)-MMGSY-341 /21-1093 अनु0, दिनांक

24.11.2021

महाशय,

उपर्युक्त विषयक प्रसांगिक पत्र के आलोक में कहना है कि ग्रामीण कार्य विभाग, कार्य प्रमंडल, सहरसा के अधीन शीर्ष मुख्यमंत्री ग्राम सम्पर्क योजना (MMGSY-SC) अन्तर्गत स्वीकृत कुल-01(एक) अदद पथ के निर्माण कार्य के पुनरीक्षित प्राक्कलन पर पुनरीक्षित तकनीकी स्वीकृति के उपरान्त पुनरीक्षित परिमाण विपत्र अनुमोदित कर मूल रूप में अग्रेतर कार्रवाई हेतु भेजी जाती है।

साथ ही निदेश दिया जाता है कि अनुमोदित परिमाण विपन्न के मद एवं मदों की मात्रा, दर, इकाई, गणना आदि की जॉच आप अपने स्तर से भी कर संतुष्ट होने के पश्चात् ही अग्रेत्तर कार्रवाई

करेंगें। किसी प्रकार की त्रुटि पाये जाने पर अधोहरताक्षरी से आवश्यक सुधार हेतु प्रस्तुत करेंगे।

SL.	Name of Road	Length (KM)	Original A/A Amount (In Lakh)	Revised A/A Amount (In Lakh)	Revised T/S for Const.+Maint. Cost (In Lakh)	Revised B.O.Q. Amount
	Road No-17 to Baghwa Punarwas.	1.765	153.580	225.550	230.460	50,58,142=00

अनु0:-पुनरीक्षित परिमाण विपत्र एक प्रति मूल में।

er OPR Je A

विश्वासभाजन,

अधीक्षण अभियता.

ग्रामीण कार्य विभाग, कार्य अंचल,

श्रिक्य सहरसा। 01.0712

The more may

si. No.	Description of Items	Unit	Qty.	Rate (Rs.)	Amount (Rs.)
10	Supplying, fitting and placing HYSD bar reinforcement in super-structure complete as per drawing and technical specifications clauses 1002, 1010 and 1202	MT	0.93	45590.99 ←	42400.00
11	Plain/reinforced cement concrete(M-20) in substructure complete as per drawings and technical specification Clauses 802, 804, 805, 806, 807, 1202 ans 1204 RCC M-25 Grade	Cum	80,28 _	6741.89 _	541239.00
12	Supplying, fitting and placing HYSD bar reinforcement in super-structure complete as per drawing and technical specifications clauses 1002, 1010 and 1202	MT	7.77 ~	4 5731.98 ←	355337.00
13	Back filling behind abutment, wing wall and return wall complete as per drawing and technical specification clause 1204.3.8 (With sandy materials)	Cum	236.82 ~	702.46 -	166357.00
14	Providing and laying filer media with granualar crushed aggregates as per specification to a thickness of not less than 600mm with smaller size towards the soil and bigger size towards the wall and providing over the entire surface behind abutment, wing wall, Return wall to the full height, completed to firm condition complete as per drawing and technical specification clause 1204.3.8	Cum	128.52 ~	2898.84 ~	372559.00
15	Providing and laying reinforced cement in Sub structure complete as per drawings and technical specification Clauses 800 and 1205.5 RCC M30	Cum	33.09 ~	7306.29 _	241765.00
16	Providing and laying cement concrete wearing course M 30 Grade including reinforcement complete as per drawings and technical specification	Cum	5.73 —	11392.48 -	65279.00
17	Clauses 800 and 1206.3 Approach Slab: Providing and laying reinforcement cement concrete in sub structure as per drawing and technical specification clauses 800 and 1204.5 RCC	Cum	37.80 —	7306.29-	276178.00
	M-30 Grade			Total	5058142.00

Pull 6-2022

Construction Cost Rs-50, 58,14,2:00 years Maintenance Cost Rs-

total Amount of B.O.O. Rs-50,58-142-00

Executive Engineer Rural Work Department Works Division, Saharsa BOB approved for Rs. 50,58,142,00 (Rupes) fifty lac fifty right thousand one hundred & forty two) only.

Approved as Corrected

White Circle Sah

R.W.D. Works, Circle, Saharsa

Www 07 27

All model mogs